
 
 
 
 
 
 

Countdown to your final Maths 
exam … part 2 (2017) 

 
Examiners Report & Markscheme 



Examiner's Report 

 

Q1. Many students could change between standard form and ordinary numbers to score the marks 

available in parts (a) and (b). The most frequently seen incorrect responses to part (a) included 45 × 

104 and 454. 

Part (c) of the question was not always attempted. When it was attempted, the answer was often 

correct. Where students were not successful, they had often evaluated the square root or the cube root 

of 6.4 and included this as part of their answer instead of using their calculator correctly to work out 

the cube root of 6.4 × 1010. 

  

Q2. All parts were well attempted. In part (c), the only common error was to fail to show the power 3 

as negative. 

 

Q3. Many correct answers were seen, usually without any intermediate working. Those who didn't get 

the correct answer often gained one mark for showing the digits 252 (2.52 × 103 was a common wrong 

answer) or for working out the numerator as 4 032 000 000. Many candidates, though, made hard 

work of this question which could have been done easily with the correct use of a calculator. Many 

converted the values to ordinary numbers to do the calculation, often resulting in an answer not given 

in standard form or causing them to lose their way. Errors were frequently made in the evaluation of 

the numerator with many candidates failing to understand the place value implications of the different 

powers of 10. 

 

Q4. No Examiner's Report available for this question 

 

Q5. This question was poorly answered. Those who had some idea of what to do generally picked up a 

mark for dividing the real distance by the distance between the models. However, few realised that 

they also had to deal with inconsistent units having failed to notice that one distance was in m and the 

other in km and made no attempt to convert between m and km. Some candidates who did spot that 

units had to be consistent were then unable to change metres into kilometres successfully.  

 

Q6. No Examiner's Report available for this question 

 

Q7. No Examiner's Report available for this question 

 

Q8. Many students did attempt to make a common denominator but often they only managed to get 

one of the two fractions correctly converted so could only access two of the three marks available. 

Others added the fractions correctly but forgot to add the whole number. Some started by converting 

the mixed number into an improper fraction but then could not cope with 19 × 7. Others left their 

answer as an improper fraction. 

 

Q9. No Examiner's Report available for this question 

 

Q10. A good proportion of the students were able to add the two fractions correctly. The majority of 

those who attempted to use a suitable common denominator were successful although some made 

errors when writing the fractions to a common denominator. Many students, however, did not 

appreciate the need for a common denominator and the most common incorrect answer was , from 

adding the numerators and adding the denominators. 

 

Q11. No Examiner's Report available for this question 

 

Q12. No Examiner's Report available for this question 

 

Q13. No Examiner's Report available for this question 

 

Q14. No Examiner's Report available for this question 

 

Q15. No Examiner's Report available for this question 

 

Q16. No Examiner's Report available for this question 
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